H & 0l & AHS B Ml A

20243 =0llah LB DIFECMS

FA: DIFETAS
B ECHBAH
ool EA22E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol=gA 14,642,776 13,750,041 892,735
= 2,100
[ 184,320
Al 14,456,35%
== P ey 8,171,306 7,624,279 547,026
= 2,100
= 184,320
Al 7,984,885
CA22E 3,845,504 3,530,924 314,580
2 50,240 46,556 3,684
201 er23 | 50,240 46,556 3,684
01 At2teltl 50,240 46,556 3,684
O=M2zE?d 29 900,000 900
O&=)| gitz 6,000,000& 6,000
O3JI1¥EI S Xz 22,000,000& 22,000
Ogg4 HIS + 1,200,000& 1,200
O23 &dAgd s 728 2,080,000& 2,080
OAld otdate] W= 323,000 323
Ootd & 2Aae| A dd|
14,170,000 14,170
Ottt E A 2te| Xt w=H|
973,000 973
OZ2=ZH KoLl XA 2,594,000& 2,594
INE=ESONREG 81,860 83, 141 1,281
201 er23| 77,340 68,630 8,710
02 S3=gHl 77,340 68,630 8,710
OFA RUBHIAAYE 29
5,040,000& 5,040
OFAAEZ RA2el 63,800,000 63,800
OXtgrdet] 8,500
clIFEZAZ(22) 5,600,000& 5,600
o=& 1A 2,900,000 2,900
206 M=l 2,000 2,000
01 MHZHI 2,000 2,000
OAlg2eld e 37,4813
2,000,000& 2,000
405 AHaHE = 2,520 6,450 23,930
01 ML ESFSHI 2,520 6,450 A3,930
UL 7Y 2,520,000& 2,520
TAFAIAE 2 843,404 497,227 346,177
201 Zet=3hl 398,210 333,485 64,725
01 AtR2t2lHl 97,641 50,618 47,023
O&&ARE 7Y 2,740,000 2,740
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2A:

O8N

B ECHBAH
ol A2 CCRE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSAPI Xtz 2,772,000& 2,772
ONIetA EItg 1,200,000& 1,200
OSMAE & 2ot N 2lold A 2
90,929,000 90,929
2 S52g4l 300,569 282,867 17,702
OENEE & MMUAAH SERAES
271,369,000 271,369
Os88= 29,200
cQIEUSIE 0122 (22 & LHE2)
12,000,000 12,000
cQIEUE|E OIZR(ANIECME, SE2t
018) 2,400,000 2,400
S8 SRUE=T=2 10,800,000 10,800
oZ0I=0l MHIA 0IBZIS 0182
4,000,000 4,000
207 ARl 271,700 271,700
02 MAHHEHI 271,700 271,700
OlI=EE A2t EAOIE e 271,700
ol A2 FA0IE JHE
229,000,000 229,000
oHAIOIE JHE Al &l 89
42,700,000 42,700
405 AtatE = 173,4%4 163,742 9,752
01 TR =S FSHI 173,4% 163,742 9,752
23t (von, &) LAl 93,464,000 93,464
Ok= PC WAl 80,030,000 80,030
QTS XSS (BTL) (HEALY) 1,504,000 1,500,000 4,000
402 QI2F X201 & 1,504,000 1,500,000 4,000
03 2IZHRAETAI A I 1,504,000 1,500,000 4,000
ORIIETAIEAMNY s XS (HeE-2Y)
1,504,000,000& 1,504,000
BIIEXAEAE 238l K= 1,366,000 1,384,000 18,000
402 212+ X201 & 1,366,000 1,384,000 18,000
03 2IZHRAETAIHHI 1,366,000 1,384,000 A18,000
ORIEXAIZAY 2 XIS
1,366,000,000& 1,366,000
SA2EH 219,000 217,240 1,760
CA2EHFA 36,770 35,160 1,610
201 er23| 30,660 28,860 1,800
01 At2teltl 16,660 14,860 1,800
O Al 2 11,800
oM H EFE M
5,000,000& 5,000
okl BEI MA 3,600,000 3,600
oA UM BHZEAHIA 1,200,000 1,200
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2A:

O8N

B ECHBAH
Gl EAE M (Gt H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
o AHZ EE= ME 2,000,000& 2,000
OZ N2t 2t AS2AI0ILE &0t 1,700
odMIATN2U3l EItI
1,100,000& 1,100
SHIHAISM2EZE &DH|
600,000 600
O=g)l gtz 2,160,000& 2,160
OZN2RA3s =& Y 2F
1,000,000& 1,000
03 SAt2GH] 14,000 14,000 0
OCIFEANBSEM RS 29 ¥ RIS
=l 14,000
oZEEMZ 23 Al
2,000,000& 2,000
ocZET M L H2EAS HRWS IHF
12,000,000& 12,000
202 04d| 2,510 2,700 A190
01 =W OdHI 2,510 2,700 A0
OA2 29 2ted AL2AMI0ILE &4
2,510,000& 2,510
203 PYRF=&Y| 3,600 3,600
03 AR FRIHRFAIY| 3,600 3,600
OZ M2t Al 2t HR =X
3,600,000& 3,600
ZUNECH2ALRFA 16,530 16,380 150
201 B2 AY| 4,530 4,380 150
2 S=29| 1,530 1,380 150
O4% HIH(EM2 E3lbl, golgtl) &
= 1,530,000& 1,530
03 At2ZH| 3,000 3,000 0
O=AERIE 2t J[Sa&At & 2tg3l Iz
3,000,000& 3,000
307 QI2Hol ™ 12,000 12,000
05 QIZtRIEr S 12,000 12,000
O=AEE A 27 & 2R3 - &
s& 12,000,000& 12,000
ZYUHEEANZ2ARFRXA 156,500 156,500 0
308 AEXIHM SO & 156,500 156,500
01 AXIEHBAEES 80,000 80,000
OSAEE A g7 & 29X - 2
- 80,000,000 80,000
08 WEI|Z0CHEtE = 76,500 76,500 0
O=AEE A 27 & 2EXE - 1
=3 45,000,000& 45,000
OWNXJALE 27 & 2GRA
31,500,000 31,500
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2A:

O8N

B ECHBAH
Gl EAE M (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NSNS 243t AR 9,200 9,200
201 er23 | 9,200 9,200
01 At2teltl 9,200 9,200
ONHMHBLBISIAS +5 L 29
1,200,002 1,200
OQIMMAIE FIA U HEZA
8,000,000& 8,000
SYusSINSARY 586,675 544,764 41,911
= 2,100
[ 61,440
Al 523,135
AE2d=2E 125,674 123,372 2,302
201 et 3| 102,475 116,675 14,200
01 At22t2l] 63,685 61,810 1,875
Ogs2dE 2= 35,185,000 35,185
OXtz M= 7,500,000& 7,500
OkN BE& &5 8,000,000& 8,000
OMNRAI R =4 5,000,000& 5,000
Ooltzd 29 8,000,000 8,000
02 S52g4l 7,450 5,785 1,665
OZEANE F=EH 2852
3,000,000& 3,000
OEA20IE 28 oY 2Es
450,000 450
OMBICIMBIA (SOt SR X2
4,000,000 4,000
03 A=l 31,340 49,080 A17,740
O0i2gH 2 24 3,000,000& 3,000
ONESEH dAId 28 17,000,000 17,000
O=SAEE Al 23 11,340,000& 11,340
202 04| 1,500 1,750 A250
01 2LHA b 1,500 1,750 A250
O=A2 23 32 =% 1,500,000 1,500
405 AHAHE S 21,699 4,947 16,752
01 AL =S F = 21,699 4,947 16,752
OXMA=)| & At & 7
21,699,000& 21,699
gdu=s=2Y 70,000 70,000 0
201 er23y| 70,000 70,000
03 A= I 70,000 70,000
OZz =24 70,000,000 70,000
SMTE 67,440 48,000 19,440
201 et 3| 67,440 48,000 19,440




2A:

O8N

B ECHBAH
el BUUSIHNSAESE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 67,440 48,000 19,440
O=HEE 2alAt 18,000,000 18,000
Ot Al 8t 2 SHAL 30,000,000 30,000
O 2238 24 19,440,000& 19,440
CA22IAI A2 15,900 14,180 1,720
201 =3 15,900 14,180 1,720
01 AtR2t2lt] 11,900 11,900 0
OAZ HIZ 42872 U =8| AR
10,340,000 10,340
OBLAUANBAIAY FAATIE
1,560,000& 1,560
02 S3=gHl 4,000 2,280 1,720
03323 4,000
S ZLUAUHEAIAE BS22
2,400,000 2,400
oVDAHIA 0122 1,600,000 1,600
SSUA 29 165,338 150,000 16,338
201 er23| 110,000 100,000 10,000
01 AtR2t2|HI 110,000 100,000 10,000
S EY S 110,000,000 110,000
405 AtatE = 55,338 50,000 5,338
01 Tt 2SS F=HI 55,338 50,000 5,338
OdsUxt 2l I 7
55,338,000 55,338
CA2 U238t MHIA XT3 3,000 1,500 1,500
= 2,100
Al 900
201 fer23| 3,000 1,500 1,500
= 2,100
Al 900
03 A= 3,000 1,500 1,500
OkAN2 Ch23t MblA XIE
3,000,000& 3,000
= 2,100
Al 900
SN2 Of2tAIR AEXIR 139,323 137,712 1,611
= 61,440
Al 77,883
101 @124H| 139,323 137,712 1,611
= 61,440
Al 77,883
04 JIZtNZ22 XS 2+ 139,323 137,712 1,611
O3S A2 H2AIZE A XS
139,323,000 139,323
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S DIEBCAZ
I-I;_(H: C]:!EEM Ea:{
Ce: HMNINSA2Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 61,440
Al 77,883
Az2EH 2 603,700 592,000 11,700
MY 603,700 592,000 11,700
201 fer23| 53,700 42,000 11,700
01 AtR2t2|HI 53,700 42,000 11,700
OMZHEA Q2 AHIA =R
18,700,000 18,700
OXtzde 22,000,000& 22,000
OIPEDEI(MARC)?-’—T% 2 HHIAEH|
13,000,000 13,000
405 KHaHF S| 550,000 550,000
02 =M=l 550,000 550,000
OZA ¢ HIZA F(22)
400,000, 0002 400,000
OFNH U U= 7Y
150,000,000 150,000
SE=MDIREA2A2E 132,970 101,341 31,629
Mzad2d(8E) 80,944 63,980 16,964
201 er23| 59,848 52,504 7,344
01 At2teltl 12,048 12,048 0
OAlF A =24 1,800,000 1,800
Ooiz2ise 1S 3,500,002 3,500
O=8)| UUE L HALRE el
2,200,000 2,200
OZE= M 1,000,000 1,000
O&8=J| itz 864,000 864
O3JIZE)| gitg 2,684,000& 2,684
02 s3=gHl 46,500 39,156 7,344
OsE2= & HA 46,500
oghate|d| 43,200,000 43,200
oY & Mtz 1,200,000& 1,200
o= R ML K=l 600,000 600
o 201ZH| 1,200,000& 1,200
oUNJIEEEA 2 H3IH 300,000 300
03 Ar=EHI 1,300 1,300 0
O=HAE 2atAl 1,300,000& 1,300
301 EtE N = 13,796 11,476 2,320
0 MSRREENS 13,796 11,476 2,320
osa 10,800,000 10,800
OuEH| 792,000& 792
O34l 1,848,000& 1,848
Ooul =l 331,000 331
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D DIFEEAZ

D EBh2AE

D ESE=RNIIREAREY (St &)
SA - B SRIBH) - MRAR - BAS A HIDEZ
SaMULEER 25,0003 25
401 AIEHIX SO 7,300 7,300
01 Al&H| 7,300 7,300
O2E sc0Ig Z0EX 7,300,000& 7,300
Ne2EYL2A(EE) 52,026 37,361 14,665
201 fer=3| 2,500 3,060 560
01 At 22|l 2,500 3,060 2560
oz (S 1,500,000& 1,500
OXtZ 02 (MARC) 7 HI(SE)
1,000,000 1,000
405 THaHF =4 49,526 34,301 15,225
01 ML ESFHSH 19,526 4,301 15,225
B Z2ME Y &55)
4,422,000 4,422
OMIt R (BE 15,104, 0002 16,104
® TATL] 30,000 30,000 0
O & HITA 7(
30,000,000 30,000
CA2 =22 22 324,497 387,158 62,661
22 (22) 106,933 136,787 N28,8%4
101 @12A4H| 69,661 103,306 A\33,644
M IR NZZ2NS 69,661 103,305 A33,644
Ox2 Y o
69,661,000 69,661
203 =] 4,800 4,800
03 A=A 2= 4,800 4,800
O TA2t AIM2E QRFX(4HA)
4,800,000 4,800
301 EtE N = 32,472 27,682 4,790
0 AR=222as 32,472 27,682 4,790
osa 26,000,000& 26,000
OsAll 4,004,000& 4,004
OS] 1,716,000& 1,716
(@)==A=:1= 80,0002 80
Oul=H| 672,000& 672
FAF A2l (22) 217,564 251,371 A\33,807
101 @12A4H| 217,564 251,371 A33,807
04 JIZtN22 XS 2+ 217,564 251,371 A\33,807
OAlg2e] 2S2x(6%)
217,564,000 217,564
el M2 2 563,710 459,135 104,575
s 30,720
Al 532,990




2A:

O8N

B ECABAH
el HeteeA2 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
a2 (Hets=) 260,734 235,673 25,061
201 er23 | 95,534 92,126 3,408
01 At2teltl 50,604 49,446 1,158
O=M&z2Eed BH+g
900,000 900
OgHd=E A5 9,500,000& 9,500
OXtza 29 3,500,000 3,500
O&=J| gtz 3,284,000 3,284
OsgJl gtz 3,120,000& 3,120
OduAR2E FY 6,000,000& 6,000
OASs HIE & 228 F
2,400,000 2,400
OXzdelgs 9,900,000& 9,900
OX20tA(MARC) = & ZHIZ I
7,000,000& 7,000
OkN BE&E &= 3,300,000 3,300
Os=2= & 1,700,000 1,700
2 35244l 4,890 4,640 250
O3322 % MAI(dstes, ER S)
3,900,000& 3,900
Oa= E3Hl(=M2 E3lHl, g2l3lHl) g8
990,000 990
03 A2 HHI 40,040 38,040 2,000
OoBydZ=zdl 29 22,000,000 22,000
OsAMzl 29 4,040,000 4,040
OSMTE 2otHA} 9,000,000& 9,000
O=SAERE Al 23 5,000,000& 5,000
405 AtatE=H 165,200 143,547 21,653
01 TR =SFISHI 25,200 3,547 21,653
SEAMD B4 22,000,000 22,000
O3] & FArze| HHl7E
3,200,000& 3,200
02 A+l 140,000 140,000 0
O=AN & HIEAM P& 140,000,000 140,000
HAR X2l (Hetss) 198,485 154,605 43,880
201 ger=3| 186,685 142,805 43,880
01 AtR2tc|HI 7,265 7,265 0
OAlE etdgie| W=t 305,000& 305
O3JI38I| itz 6,960,000 6,960
02 S5=2g4l 179,420 135,540 43,880
OAIEEHl SAIBI(XI I, A &)
80,000,000& 80,000
O3323(H)| 4ttt )
90,280,000 90,280
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2A:

O8N

B ECABAH
el BdtsasA2 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBAMRLUBHIANAY 29
4,500,000& 4,500
OMdi== & Sx= e SH=lbl
4,640,000& 4,640
206 M=l 11,800 11,800
01 M= HI 11,800 11,800
O&Hl |XZel 2A28(82,2% §) 7
1,500,000 1,500
OAlg2el e s+.818 & ¢
3,800,000& 3,800
O 2tg22lE =3 & 78
6,500,000& 6,500
SSEANZ H2AIZE HEXH(Hets =) 104,491 68,857 35,634
= 30,720
Al 73,771
101 @124H| 104,491 68,857 35,634
= 30,720
Al 73,771
MU IIRINZENSES 104,491 68,857 35,634
O3S M2 H2AIZE AEX 3 (HetS =)
104,491,0002 104,491
[ 30,720
Al 73,771
gdSots N2 2 492,157 720,955 N228,798
= 30,720
Al 461,437
Nza2d(d56s) 228,296 268,320 40,024
201 er23| 108,296 108,320 N4
01 At2tltl 65,076 68,350 N3,274
O=M&2E?d BH+g
900,000 900
Og=tlEs ISUE, FI1EE)
9,500,000 9,500
OXtgd 29 & duARE 2Y S
12,696,000& 12,696
O&8=J| itz 3,000,000& 3,000
O=sgll gits 2,880,000& 2,880
O2ASs HIE & 228 F
1,500,000& 1,500
OXzgelgs 7,000,000 7,000
OX20tA(MARC) = & ZHIZ I
6,000,000& 6,000
ON BE& &= 3,000,000 3,000
OLMXIAHE 24 3,000,000& 3,000
OZE= M 6,000,000 6,000
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SN DIEEEAT
R HECAZAS
el gEolskAS 29 (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
Oxtegr ext=z 9,600,000& 9,600
2 s5=34l 4,770 4,520 250
03322 % MME2sS, REE &)
3,780,000 3,780
OAZFIHI(ZSAZ g, a3l g2
990,000 990
03 Ar=EHI 38,450 35,450 3,000
Oogdz=zd 29 21,000,000 21,000
O=Aa 23 3,810,000& 3,810
OSsAEE S2A 8,500,000 8,500
SAEE AIY 29 5,140,000 5,140
405 AHAHE S 120,000 160,000 240,000
02 =AFbl 120,000 120,000 0
OEMN & HIEAM P& 120,000,000 120,000
AR X2l (EEots) 159,370 383,778 N224,408
201 er=23| 102,170 104,578 2,408
01 AtR2te|Hl 3,210 3,930 AT20
OAld otdate] W=H] 330,000 330
O3J1838J| Xtz 2,880,000& 2,880
2 Ss52g4l 98,960 100,648 1,688
OAEEHISXIHIO1H, &I], A8 S)
38,360,000 38,360
O3223(HI|, 4ot S)
54,000,000& 54,000
OFAIFIEHIANAE 2
3,600,000& 3,600
ONci=+ & X2 e A
3,000,000& 3,000
206 M=l 10,200 10,200
01 MZH| 10,200 10,200
O&Hl =Xl 228 7
1,000,000& 1,000
OAld2telol e 37,818 s 7
2,000,000& 2,000
OFAl g2clg 22 & 7¢
7,200,000 7,200
401 AlEHIZ S 0HYI 47,000 269,000 A222,000
01 AlZH| 47,000 263,000 216,000
O3S +=AIEH| 47,000,000 47,000
B3 MZ HZARE HEXJ(ZE0HE) 104,491 68,857 35,634
[ 30,720
Al 73,771
101 e124d| 104,491 68,857 35,634
= 30,720
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2A:

O8N

B ECABAH
el FBolEAd =Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 73,771
04 JIZtNZ22 XS 2+ 104,491 68,857 35,634
OB A2 H2AIZE AEXE
104,491,000 104,491
[ 30,720
Al 73,771
=Mz A2 2 487,186 416,483 70,703
= 30,720
Al 456,466
A2a2d(Het=H) 258,503 218,634 39,869
201 Let=23 | 77,194 78,3% A1,200
01 AtR2te|Hl 40,508 43,738 A3,230
O=M&2Eed B4+E
900,000 900
Otz A2, FI1REE)
7,200,000 7,200
Od=Jl & S8 &ii=
5,208,000& 5,208
OBMARE 2 Ttzd 29 25 7
6,800,000& 6,800
OAL& HIE € 228 7Y
2,400,000 2,400
OiXzdelgs ¢ 7,000,000& 7,000
OX20tA(MARC) = & ZHIZ I
6,000,000& 6,000
OAM BE &= 3,000,000& 3,000
Os=2= & 2,000,000 2,000
2 35244l 4,186 3,936 250
O3323 % MA(dstes, fER S)
3,196,000& 3,19%6
Ox£Ealtl 990,000 990
03 &A= 32,500 30,720 1,780
OBEMINsIZINHE 29 16,000,000& 16,000
O=HAE 23tA 8,500,000 8,500
O=Azl 23 3,000,000 3,000
SAEE Z2)H 2 5,000,000& 5,000
405 AtatsE = 181,309 140,240 41,069
01 ML ESFISHI 61,309 20,240 41,069
IR FL (Mt 8) 9,000,000& 9,000
OEs &5 Tl & 7
2,240,000 2,240
OXt &l 7Y 50,069,000& 50,069
02 =A=HI 120,000 120,000 0
OEAM & HIEM 7 120,000,000 120,000
BAMSXZe (Het=H) 124,192 128,992 4,800
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2A:

O8N

B ECABAH
el e =HEAM2 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 113,192 103,192 10,000
01 At2teltl 7,780 7,780 0
OAlZ= otd 2] W= 220,000 220
O3JIZE)| gitg 7,560,000& 7,560
02 S3=gHl 105,412 95,412 10,000
OAl2€ &8l =8l 49,480,000 49,480
O882= £ HA 55,932,000 556,932
206 M=l 11,000 11,000
01 MHZH| 11,000 11,000
OAd =Xl 223, HIE, 8+ & 78
11,000,000 11,000
B3 M2 HZAIRF HE X (H2=H) 104,491 68,857 35,634
[ 30,720
Al 73,771
101 ©1AH| 104,491 68,857 35,634
[ 30,720
Al 73,771
M ORINZZ2NSE S 104,491 68,857 35,634
OSEE=AZ HEAIZH HEXA
104,491,000 104,491
= 30,720
Al 73,771
OHEEA2 29 915,906 654,279 261,627
[ 30,720
Al 885,186
Nza2d(0rd) 362,415 208,122 154,293
201 et 3| 85,215 79,102 6,113
01 At22t2l] 46,552 40,652 5,900
OZHB2YAS| ALY
900,000 900
Oous2dd=E 2= 7,212,000& 7,212
Oltgd 28 & MuARE 29 S
13,000,000 13,000
O&8=Jl & S8 8tz
4,740,000 4,740
OEMN BE &5 3,300,000& 3,300
OA%& HIE &€ 228 7¢
2,400,000& 2,400
ONzZelEe3 7,000,000& 7,000
OXZ Ot (MARC) ++= & ZHI& Y
6,000,000 6,000
Og=2= & 2,000,000& 2,000
02 S3=4gl 4,623 4,410 213
Oa% g3t =2 723,000 723
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FA: DIFETAS
B EC AT
Celr N2 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3323 % MA(dstes, fER S)
3,900,000& 3,900
03 A= SHI 34,040 34,040 0
OEMIsTIZIH 2 16,000,000 16,000
O=KX3 29 3,840,000 3,840
O=HEE 23tHA 10,000,000 10,000
SAEE T2 24 4,200,000 4,200
405 KHoHF S| 277,200 129,020 148,180
01 ML ESFSHI 157,200 9,020 148,180
Ot S 25 &IIF 7Y
157,200,000 157,200
02 =A=EhI 120,000 120,000 0
OEM Z HIEM 2E 120,000,000 120,000
AL X2l (0H) 449,000 377,300 71,700
201 er23| 386,000 374,300 11,700
01 At2tltl 8,890 8,890 0
OAlEg et 2ie| W=H] 250,000 250
O3J188J| & itz 8,640,000& 8,640
02 S3=gHl 377,110 365,410 11,700
OAIZZHIS LRI, J13H, 28 &)
54,500,000 54,500
OBBRB(VII, Mot4+E S)
82,200,000 82,200
OBAMSLABHIANAY 29
4,500,000 4,500
ONsi=+ & XS e M|
3,500,000& 3,500
OsgAlgae g9 232,410,000 232,410
206 M=l 3,000 3,000
01 MZH| 3,000 3,000
OANd=R2el 228 ¢ HIS s 7
3,000,000 3,000
401 AlZHIZ SO 60,000 60,000
01 AlZ8| 60,000 60,000
OltHZ A2 AlE - &8 I
60,000,000 60,000
SSEAMZ AR HEXIH(0HY) 104,491 68,857 35,634
= 30,720
Al 73,771
101 @124H| 104,491 68,857 35,634
= 30,720
Al 73,771
04 JIZtN22 XS 2+ 104,491 68,857 35,634




2A:

E M

DIZECN
A 2AS

ool A2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSEE=AZ H2AIZH HEXA

104,491,000 104,491

= 30,720

Al 73,771
HH =S 3 6,471,471 6,125,762 345,709
CIARAHI(DIZE A2 5,975,189 5,699,694 275,49%
el 24| 5,975,189 5,699,694 275,49%
101 @124H| 5,757,307 5,475,564 281,743
01 &= 3,958,614 3,740,128 218,486

OJl==(619) 2,900,928

o4 96,030,000 96,030

obg 935,594,000 935,594

So=] 652,626,000 652,626

org 849, 130,000 849,130

=85 344,480,000 344,480

SEE] 23,068,000 23,068

(OES 592,750

odIsd 140,463

6= 54,386,000 54,386

= 70,761,000& 70,761

= 14,354,000 14,354

= 962,000 962

cItEsd 40,560

- B A 14,400,000& 14,400

HAEHIS 2,400,000 2,400

I PUE] 7,200,000 7,200

SMAHA 12,600,000 12,600

QU PES 3,960,000& 3,960

odIg It 47,400

254014 15,600,000& 15,600

20~25 018t 6,600,000 6,600

2080/ & 6,000,000 6,000

- 152050/ et 7,680,000& 7,680

- 10~15= 02t 4,320,000 4,320

- 5~10=01e 7,200,000 7,200

SEESS 94,566

= 3,072,000 3,072

= 29,921,000& 29,921

= 26,758,000 26,758

= 34,815,000& 34,815

oS4-Efd 21,960

=38 2,520,000& 2,520
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SN IEEEN
;. ¥ 233
Cel: QIERAHI(DIFEEAR) (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JlsdEsgotts 2,520,000& 2,520
AN (52014}) 1,080,000 1,080
- AN ==& (6=20I3t) 7,440,000 7,440
< ARHSERR 6,000,000& 6,000
SRIPS 2,400,000 2,400
ox22LE 245,821
- 62 72,329,000& 72,329
72 110,564,000& 110,564
8= 58,656,000 58,656
9= 4,272,000 4,272
oRE2RE 600,000& 600
oHl&22+E 780,000& 780
oY 600,000& 600
Od A ZAMH| 102,480,000 102,480
Og&ESItd| 186,931
6= 65,263,000 65,263
o7s 84,913,000 84,913
o8= 34,448,000 34,448
S =] 2,307,000 2,307
OS2 4| 31,945
SL= 895,000 89%5
obg 8,717,000& 8,717
obg 7,797,000 7,797
org 10, 144,000 10,144
=85 4,116,000& 4,116
S 276,000& 276
OXg2 x| 143,580
od4g 4,800,000 4,800
obg 33,000,000& 33,000
SE] 28,860,000 28,860
o7s 47,520,000 47,520
o805 29,400,000 29,400
03 SR (RINHA) 222+ 1,798,693 1,735,436 63,257

OJl==419) 1,080,619,000& 1,080,619
Oxzl=2=2=E S 330,132
ox IR 270,108,000 270,108
ondIRsE 60,024,000 60,024
Odxtra+g 60,024,000 60,024
Oa4tl 68,880,000& 68,880
OgZE=Itdl 108,062,000 108,062
o832+ 81,047,000 81,047
Od2s=giit= 25,289,000 25,289
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SN IEEEN
;. ¥ 233
Cel: QIERAHI(DIFEEAR) (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJtE=g 23,040
oA 6,720,000& 6,720
o XA EH| = 1,200,000 1,200
o XM A 3,600,000& 3,600
o= MAH 7,560,000 7,560
SP U PN E 3,960,000& 3,960
OAMMER=E 7,680,000& 7,680
O==4| 7,200,000 7,200
Ofg=g 6.,720,000& 6.720
04 HSRESS 217,882 224,130 A\6,248
04 BRA(RIAHA)22X & 8= S 217,882 224,130 26,248
ONEZEERE=s S 217,882
o 1EEEREs 31,482,000& 31,482
oMATMNEE = 14,932,000 14,932
SERIGEPIFTE J= e 80,954,000 80,954
o=xilALZHE= 9,320,000& 9,320
o IEIIRAZES 1,194,000& 1,194
SRS 80,000,000 80,000
[=2Z2HI(0IFEEM2) 496,282 426,068 70,214
FAE8H| 496,282 426,068 70,214
201 =3 391,210 323,688 67,522
01 At22t2l] 38,610 39,088 N4T8
Oget=ZH| 8,890,000 8,890
O=gH| 19,620,000 19,620
Oog - =xtl(F22Ne) 9,600,000& 9,600
Ornl=HI(S2A) 500,000 500
02 s3=gbl 362,600 284,600 68,000
OZ332= & HMAl 352,600,000 362,600
202 04l 32,592 32,040 552
01 SLHoIH 32,592 32,040 552
O=LH04HI 32,592,000 32,592
203 HR=AH] 29,280 27,140 2,140
01 D[22 LR FA| 3,300 3,300 0
oz 3,300,000 3,300
02 32 JRHH 2= 2,280 2,240 40
OFAINIE R 2,280,000 2,280
M FA2HARFAI 23,700 21,600 2,100
ORNSgERF=AHI 23,700
oL 3,000,000& 3,000
odE2IME 2,100,000& 2,100
oRHYER 4,800,000& 4,800
oFHilarT A2 3,600,000 3,600
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2A:

DIZECAR

mE: AFSAAY)
gel: JI=ZHI(0IF8AR) CEEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
cHt=MEAS 3,600,000& 3,600
ogSEol= A2t 3,600,000& 3,600
o0t A2 3,000,000 3,000
204 MR AH| 43,200 43,200
01 MG HI=HAHH| 13,200 13,200
OXH_ZHER =AY 13,200
SL= 4,800,000 4,800
obg 8,400,000& 8,400
02 S3g =3l 30,000 30,000 0
otfeletssl 30,000,000 30,000
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